GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION
NATIONAL TALENT SEARCH EXAMINATION, 2020

(STATE LEVEL)
(FOR STUDENTS STUDYING IN CLASS X)
Mental Ability Test

Roll No.

Full Marks : 100
Time: 120 Minutes (10-30 AM to 12-30 PM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 100 questions.
Each question carries 1(one) mark. You are to answer all
the questions.

2. Before you proceed to mark in the OMR Answer-
Sheet, find out the correctanswer from the four alternatives
(a), (b), (c) and (d) against each question in the Question
Booklet. Darken the circle with a Black Ball Point Pen, to
the corresponding correct answer for the item in the OMR
Answer-Sheet.

parple: (@) @ © @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4, Therewillbe no penalty marks or negative marking
for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your room/
hall.

6. You are to write your Name and Roll No. in the
space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in OMR
Answer Sheet.

7. The OMR Answer-Sheet should be handed over to
the Invigilator before leaving the Examination Hall. You
may take away the used Question Booklet after completion
of the examination.
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MENTAL ABILITY TEST

(Questions 1-15)

DIRECTION: Read the questions 1-15
carefully and give answer by filling the circle

of the letter denoting your selected answer on
the OMR Answer-Sheet.

(ot s 1 2 15 71w el sierera «ioet,
oo Terefa Wy (2 Ae Teal Fdiva s
GR 8.9 . TeoiEs S 36 754 703 (oiF
T A 1]

1. x° -1 is divided by 2x + 1, then the
absolute value of the remainder is

(a) 21
(b) 26

© 2

@ 2

2. A mother was 30 years old when her
son was born. Now the sum of ages of mother
and son is 40 years. What would be the age of
the son after 10 years?

(a) 5 years

(b) 15 years
(c) 20 years
(d) 10 years

3. If the difference between diameter and
circumference of a circle is 60 cm, then the
area of the circle is

(a) 661 square cm.
(b) 166 square cm.
(c) 616 square cm.
(d) 484 square cm.

4. A metalic spherical shell of internal
and external diameters 4 cm and 8 cm
respectively, is melted and recast into the
form of a cone of base diameter 8 cm. The
height of the cone is

(a) 12cm
(b) 14 cm
(¢) 15cm
(d) 18 cm

5. If median of a distribution is 28 and
mean is 27-5, then mode is

(a) 29-5
(b) 28-5
(c) 29-0
(d) 27-0

6. The value of @’ +b> +¢c> —3abc when
a+b+c=9 and a®+b*+c* =29 is
(@) 9
(b) 3
(c) 27
(d) 81

7. The angles of elevation of top and
bottom of a flag kept on a flagpost at 30 metre
distance are 45° and 30° respectively. What is
the height of the flag?

(a) 17-32 metre
(b) 14-32 metre
(c¢) 12-68 metre
(d) 20-78 metre

[3]



8. The average of 11 results is 50. If the
average of first six results is 49 and that of
last six numbers is 52, find the sixth result.

(a) 65
(b) 72
(c) 56
(d) 47

9. The roots of 2k +5kx+2=0 are
equal if & is equal to

16
(a) 2

®

(c) 2
2
(d) IE
10. A fair unbiased die is thrown twice and
in both cases the difference of numbers
appeared on the upper face was observed.
The probability of getting the difference to be
3is
(a)
(b)

(©

R il i i

(d)

11. If (p+4q):+/pg=2:1, then p: g will
be

(@ 2:1
(b 1:2
) 1:1
@ 1:5

12. In a given A

figure, PA and PB |
are tangents from P P
to a circle with centre

0. If ZAOB = 130°, 8
then find ZAPB.

(a) 40°

(b) 55°
(c) 50°
(d) 60°

13. If cos* @ —sin* 9= % , then the value of
tan®0 will be

(a)
(b)
(c)

(d

Bl= W[ W= =

14. g

In the figure the value of ZBED is
(a) 25°
(b) 40°
(©) 35°
(d) 30°



14+2x
1-2x

15. If (1 + 4x?)cosO = 4x, then

(a) cosecH + cot®
(b) cosecB — cotd
(c) secO + tan®
(d) secO —tan®

(Questions 16-25)

DIRECTION: In each question 16 to 25
there are two words separated by ‘:” and other
two separated from the first two by the
symbol “::’. Find the relation between two
sets of words and select one word from the
right side of ‘> which have the same relation
as left set of word of “::”. Fill the circle of the
letter denoting your selected answer on the
OMR Answer-Sheet.

(e ¢ Sisa 16 (/e 25 1% amafia 2feh
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16. Lamp : Oil :: Bulb : ?
(a) Electricity
(b) Bright
(c) Holder
(d) Switch

17. Whale : Mammal :: Frog : ?
(a) Amphibian
(b) Reptile
(c) Fish
(d) Molluse

F W

18. King : Palace :: Eskimo : ?
(a) Cavaran
(b) Asylum
(c) Monastery
(d) Igloo

19. Cobbler : Leather :: Carpenter : ?
(a) Paper
(b) Wood
(c) Hammer
(d) Cloth

20. Stethoscope : Heartbeat :: ?: Temperature
(a) Heat
(b) Mercury
(c) Scale
(d) Thermometer

21. Light : Darkness :: Knowledge : ?
(a) Ignorance
(b) Intelligence
(c) Brightness
(d) Creativity

22. 841:29:289:?
(@) 23
(b) 33
© 17
@) 13

25 C:1xD:?
(a) L
(b) P
(c) M
(d N




24. Heart : Cardiologist :: Kidney : ? 27.

(a) Endocrinologist 2 3 6
(b) Orthodontist 3 2 4 2 3 5
(c) Nephrologist
(d) Urologist 4 5 4
(a) 94
25. Poet : Poem :: Dramatist : ? (b); 86
(a) Dialogue (c) 82
(b) Stage (d) 78
(c) Play
(d) Direction
28.
(Questions 26-55) m
DIRECTION: In questions 26—55, numbers W v
are placed in figures on the basis of some
rules. One place in the figure is indicated by
(a) 220

the interrogation sign(?). Find out the correct
alternative to replace the question mark and (b) 224
indicate your answer by filling the circle of

the corresponding letter of alternatives in the (€ 221
OMR Answer-Sheet. (d) 225

(et ¢ 26 (4t 55 o1fE epafEm oo fog it
8 oy g st [ive e orea wie | wsfh
IEI A @ (?) cew wg | N Joe
wa et @i SexelE Wiy AP0 e
(A QN F. TEIT J€ 574 A (]

9 8
3 3
(a) 105 (a) 12
(b) 60 (b) 15
(c) 30 (c) 18

(d) 45 (d) 14
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30. 33.

31 | 17 | s8 | 87
84 81 88
68 | 19 | 61 | 56
14 | 12 18| 9 ? |11
o1 | 22 | 70 | 50
10 |42 | 11 | 2 (a) 16
61
@ 3 ((b; 21
C
®) 6 (d) 81
(c) 7
(d 9
31. M'
2 4 T 36 | 25
? 27
e8> oo ) AN
21 | 30
5 4 6
2
@ ; (a) 35
®) 4 (b) 32
c
(d; g (c) 22
( @ 19
32.
45 20 |40 3s.
| 25 | 27 35’60 31 40”25 ? 35|
30 35 65 '
— i 189 @)
(a) 33 (a) 124
(b) 36 (b) 125
(c) 45 () 126
(d) 60 (d) 224

[7]
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k7 3

(a) 164
(b) 181
(c) 216
(d) 200

(>
oy

(a) 71
(b) 59
(c) 62
(d) 55

15

16

29

49

89

147

(a) 48
(b) 45
() 51
) 54

25

28

12

52

36

28

102

(a) 50
(b) 90
(c) 218
(d) 64




—— S el

42.

12

108

27

96

(a) 4
(b) 5
(©) 3
@ 6

Liﬂ zZ |~

(a) K
() O
(c) F
(d) J

LQ

(a M
(b) N
c) P
(d O

[9]

45.

47.

90 91

@) 92
(b) 94

(©) 104
d) 93

1 |

75 | 165

285

(a) 7
(®) 5
(© 1
(d) 4

6

?

3

20

120 ' 24




3 6 2
slefe s[m]o 5[0 ]2 ng Qﬁb qﬁb
2 3 9 m @ w
(a) 15
(b) 18 @ 1
(© 17 () 8
(d) 16 () 6
@ 4
| st.
3C | 27D | 9E
49. 7 | 21K | 3M
4D ? g )
(a) 11E
(b) 28G
() 351
(d) 48F
52,

2@ @

(a) 132 (a) 60

(b) 320 (b) 39

(c) 274 (c) 32

(d) 262 (d) 52
[10]
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53.

54.

53,

(a) 5052
(b) 5100
(c) 5094
(d) 4860

60 %%\564
A&
%

20160

480
96

24

(a) 860
(b) 1140
(c) 2880
(d) 3240

466
341

398
283

&/
(a) 29
(b) 23
(c) 35
(d) 26

L

(Questions 56-70)

DIRECTION: In each of the following
questions 56 to 70, a number series is given
with one term missing. Choose the correct
alternative that will continue the same pattern
and replace the question mark in the given
series.

[ 3 Fve 56 @ 70 +if® 2 ded 9o
A/ il g | @Sl @fite ¢ w4 A
TR @A 2’ B P o | 63 oW @i
A ot Reem owrew| €3 Wb 3w I
8.7, Tensica W<HB 3(ba HAiroieE 38 szl
Ecaf)|
56. 132, 253, 374, 495, ?

(a) 5165

(b) 5123

(c) 5116

(d) 5102

57. 8,18,32,50,72,?
(a) 76
(b) 98
(c) 80
(d) 70

58. 1,0,3,2,5,6,7,12,9,20
(@ 9
(b) 10
(c) 7
(d) 8

59. 7,8, 18,57, 7, 1165
(a) 174
(b) 232
(c) 224
(d) 228

[11]



60. 10, 11, 14, 23, 50, ? 66. 198, 194, 185, 169, ?

(a) 10 (@) 92
(b) 104 (b) 136
() 70 (c) 144
() 131 @ 112

61. 4, 8, 28, 80, 244, 7

(a) 278 67. 4,11, 30,67, 128, ?
(b) 428 (a) 219
(c) 628 (b) 228
(d) 728 (©) 231
(d) 237
62. 1,1,2,6,24,7,720
(a) 100
(b) 104 68. 17,43, 81, 131, ?
(c) 108 (a) 375
(d) 120 (b) 468
(c) 300
63. 2,7,27,107,427,7 (d) 193
(a) 1262
(b) 1707
(c) 4027 69. How many terms are there in the series
(d) 4207 4,7,10, 13, ...,148?
(a) 25
64. 3,8,18,7,53,78 (b) 49
(a) 30 (c) 37
(b) 35 (d) 51
(c) 33
(d) 32
70. In the series 4, 10, 16, ........ what will
65. 11,29, 55,7, 131 be the 23rd term?
(a) 110 (a) 136
(b) 81 (b) 150
(c) 89 (c) 161
(d) 78 d) 125




(Questions 71-80) 75. (a) Carrom

DIRECTION: In each of the questions 71 to (b) Golf
80 there are four items, three of which are (c) Cricket
alike by some means or other while one is out

of the class. Find out the odd item and (d) Hockey
indicate your answer by filling the circle of
the corresponding letter on the OMR
Answer-Sheet. 76. (a) E
. (a e
[T & 71 (3 80 #18 2ror<s 2ies 51afs 6 =i Ey
TR, N0 T A 7 R ST G GG (0 Eiits
QPG el | G2 wEw omibee Wb 3 (c) Throat
8. 9T, Tezeian RS 3@ s34 Fare A (] (d) Nose
71. (a) Iron
(b) Steel
(e) Gold 77. (a) Cumin
(d) Tin (b) Groundnut
(c) Clove
(d) Pepper
72. (a) RKD
b
( ; UNG 78. (a) Temple
((;) SEIL[ IEI (b) Worship
(¢c) Church
(d) Mosque
73. (a) Botany
(b) Eﬂg]jSh 79. (a) 70, 80
(c) Physics (b) 54,62
(d) Chemistry (c) 28,32
(d) 42,24
74. (a) Mumbai 80. (a) Square
(b) Chennai (b) Circle
(c) Kolkata (c) Parallelogram
(d) Bengaluru (d) Rectangle

[13]




(Questions 81-83)
DIRECTION: Choose the correct one.

[Frre & o< Sl frdiom v 1]

81. If the clock reads 6:20 and if the minute
hand points North-East, in which direction
will the hour hand point?

(a) West
(b) South-East
(c) East
(d) North-East

82. A boy starts walking toward West, he

_ turns right and again he turns right and then

' turns left at last. Towards which direction is
he walking now?

(a) West
(b) North
(¢) South
(d) East

83. Arun travels 8 km towards the North,
turns left and travels 3 km and then again
turns right and covers another 4 km. He then
turns right and travels another 3 km. How far
is he from the starting point?

(a) 18 km
(b) 11 km
(c) 12km
(d) 15km

(Questions 84 & 85)
DIRECTION: Choose the correct one.

[ 2 Afow Seafd Fiva et 1]

84. Arrange the given words in the
sequence in which they occur in dictionary
and then choose the correct sequence.

Leaf
Learned
Leave
Leak
Leader

O ol

(a) 5,1,4,2,3
(b) 5,1,4,3,2
) 3,5, 1,4,2
@d 1,4,2,3,5

85. Arrange the given words in the
sequence in which they occur in dictionary
and then choose the correct sequence. |

Select |
Seldom
Send
Selfish
Selter

B e B X e

(@ 1,2,4,5,3
(b) 2,1,5,4,3
(©) 3,9,4, 1,2
) 5,3,2, 1,4

(Questions 86-90)

86. If P means —, Q means +, R means +
and S means x, then what is the value of
18P6Q4S6R2?

(a) 24
(b) 12
() 26
(d) 128

[14]




87. If 5%6 = 35, 8*4 =28, 6*8 = ?
(a) 46
(b) 34
() 23
(d) 38

& 2

88. If ‘+" stands for ‘multiplication’, ‘<
stands for ‘division’, ‘+’ stands for
‘subtraction’, ‘-’ stands for ‘addition’ and ‘x’
stands for ‘greater than’, identify which
expression is correct.

(a) 20-4+4+8<2x26
(b) 20x8+15<5+9-8
() 20<2+10+4-6x% 100
(d) 20<5+25+10-2x%x96

89. If ‘=’ means ‘+’, ‘=" means ‘+’, ‘%X’
means ‘" and ‘+" means ‘X’ then
32+8-4x%x12+4="
(a) 12
(b) 21
(c) —41
(d —14

90. Which one of the following will be
possible when you interchange the numbers 4
and 5 and the signs ‘+’ and ‘x’?

(a) 5x4+10=30
(b) 10x4+5=50
(c) 20+5x4=85
(d) 5+15%x4=90

(Questions 91-95)

DIRECTION: Study the following figure
carefully and answer the questions given
below it. The rectangle represents employed
persons and the triangle represents educated
persons and the circle represents villagers.

(R 2 fcs enfifes Sremef o g3z [pe
sppafel Ted wie | SRS siEfaTe Ife, fTew
fifire fE 93 38 AP Foe 330 1]

778
£/« N2 |

R

1

91. Which regions indicate villagers are
neither employed nor educated?

(a) 6,1
(b) 8,9
(c) 3,2
(d) 7,8

92. Which regions represent educated
persons are villagers?

(a) 7,4
(b) 4,6
(c) 6,1
(d) 7,4,6

93. Which region represents educated
persons are both villagers and employed?

@a) 2
®) 8
) 4
@ 9

[15]
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94. Which region represents educated
persons are neither villagers nor employed?

(a) 9
(b) 1
(© 3
(d) 6

95. Which region indicates employed
persons are neither villagers nor educated?

(a) 8
(b) 7
() 9
(d 2

(Questions 96 & 97)
DIRECTION: Choose the correct one.
(et ¢ w1 Teal® Mdton st 1]

96. If A + B means A is the brother of
B, A —B means A is the sister of B and A x B

means A is the father of B, which of the
following means that C is the son of A?

(a A-BxC+B
(b)) B—-C+AxB
(c) A+B-BxC
(d AxB-C+B

97. Looking at a photograph a person said
“I have no brother or sister but that man’s
father is my father’s son”. At whose
photograph was the person looking at?

(a) His son’s

(b) His nephew’s
(c) His father’s
(d) His own

(Questions 98-100)
DIRECTION: A is B’s brother, C is A’s
mother, D is C’s father and E is B’s son.
98. How is E related to A?

(a) Cousin

(b) Nephew

(c) Uncle

(d) Grandson

99. How is D related to B?
(a) Father
(b) Uncle
(¢c) Brother
(d) Grandfather

100. How is E related to C?
(a) Uncle
(b) Nephew
-(c) Cousin
(d) Grandson

[16]




GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION
NATIONAL TALENT SEARCH EXAMINATION, 2020

(STATE LEVEL)
(FOR STUDENTS STUDYING IN CLASS X)
Scholastic Aptitude Test

eSS AR

Roll No.

Full Marks : 100
Time: 120 Minutes (1:30 PM to 3:30 PM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 100 questions.
Each question carries 1(one) mark. You are to answer all
the questions.

2. Before you proceed to mark in the OMR Answer-
Sheet, find outthe correct answer from the four alternatives
(a), (b), (¢) and (d) against each question in the Question
Booklet. Darken the circle with a Black Ball Point Pen, to
the corresponding correct answer for the item in the OMR
Answer-Sheet.

Earpie: @ @ © @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
ANSwWeEr.

4. Therewill benopenalty marks or negative marking
for a wrong answer.

5. You are to start recording answers with the
‘start” instruction from the Officer-in-Charge of your room/
hall.

6. You are to write your Name and Roll No. in the
space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in OMR
Answer Sheet.

7. The OMR Answer-Sheet should be handed overto
the Invigilator before leaving the Examination Hall. You
may take away the used Question Booklet after completion
of the examination.
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Mathematics

1. If 23x — 29y = 98 and 29x — 23y = 110,

then the value of \/x2 +y? is
@ /10
® 5

() 10
d 7

y . § x=—y— and y=f-i, then the
y+1 2

value of x(y+2)+-£-+% is

(a) 1
(b) O
() -1
(d) a
3. If sin8+sin°0 = cos’0, then the value of

cos69 -4 cos49 +8 00829 is

(a) 1
(b) 4
(c) 2
(d 0

4. If x* +y* —2J2x+42y-10, then the
val\.leut)fi is
Y

1

(a) 2

b L

4

(c) 2

(d) 4

1. 3% 23x — 29y = 98 93 29x - 23y =110

¥ a-2
—— gR y=—— W, A

2 =
" y+1 2

x(y+2)+ 2+ 2 ama
y X

(@1

(b) 0

© -1

d) a

sin @ +sin’°0 =cos’0 AR

3. I 27,
cos®@ -4cos4e+800529 € T &
(a) 1

(b) 4
(c) 2
@ 0

4. T x> + y? =2J§x+4~/§}'—10 o, oA

X qmwm
y .
1

(a) N

1

(b) iy

(c) 2

(d) 4

[3]



5. If x + y = 12, then the maximum value 5. x+y =12 % xy 93 FifEs W e

of xy will be (a) 20
(b) 30 © 36
8 Zg (d) 40

4+5 4-45
6. If 27N and — = be the roots of a 6. Gttt e s D 4++/5 o

2 2
quadratic equation, then the quadratic equation 5 2
4-+5
will be e fegre A qaell® &3,
(@) 4%2-17x-9=0 (@) 4 -17x-9=0
(b) 6x*—16x-9=0 (b) 6x%—16x—9=0
(c) x*-5x+8=0 (c) X*-5x+8=0
(d) 4% -16x+11=0 (d) 4x*-16x+11=0
7. If sin*x +sin’x =1, then the value of 7. sin*x +sin?x=1 =@, cot” x + cot? x ~4F
cot* x +cot?x will be RICE-6]
(@) 0 (@ 0
(b) 1 (b) 1
(c) 2 (c) 2
d) 4 (d) 4
8. ab\,‘c\/_= 8. abcvg=
@) a% b% c%al d%ﬁ (@ a}é b%c% d%ﬁ
1
(b) (abcd )%6 (b) (abcd)Aﬁ
(c) (abcd )}é (c) (abed )}é
@ 2620200 @ Sphs 0




9. A train goes from Sealdah to Ranaghat
with velocity 60 km/hr and returns from
Ranaghat to Sealdah with velocity 80 km/hr.
The average velocity of the train will be

(a) 70 km/hr

(b) 68% km/hr

4
(¢ 70? km/hr

(d) 68 km/hr

10. The triangle formed by the points (7, 9),
(3,-7)and (-3, 3) is

(a) Equilateral

(b) Isosceles

(c) Scalene

(d) Right angled and Isosceles

11. Ina cuboid the length of the diagonal is
p, the sum of areas of all the surfaces is g and
the sum of lengths of coinitial edges is r. Then

which one of the following relations is true?

(a) r=4\Jp2 +.gf2
(b) r=\j4(p2 +q)
© r=+/p* +q

d) r=4yp* ¢

9. M G vz (A G 60 il /a5

@0 AW @R ARG (A Faewe 80 R/ %!
@9l 2 oI | Gioa o siferast 2

(a) 70 f=f/2%t

(b) 68%1’%&/‘&%1
4

(c) 70? /9%t

(d) 68 ffe/wst

10. (7, 9), (3, -7), (-3, 3) = s
e fagef ==
(a) M
(b) sfeare
(c) R
(d) A @ TR

11. g3 SFew=res I 0l p, AT
FaTE g 93¢ RS ehE WY r 7, e
@ TG 5 e

(a) r=4m
® r=\4(p? +q)
© r=yp? +q
@ r=ayp? ¢

[51




12. If a cube has surface area s and volume
v, then the volume of the cube with surface

area 2s will be
(a) 2v
(b) 24/2v
(c) 4v

@) 2y

13. Average of 1st 100 natural numbers is

(a) 50
(b) 50-5

(c) 505
(d) 515

14. In the figure given below, ABCD is a
quadrilateral and if AB=5 cm, AD=12cm,
BC=CD=13cm, then the area of the
quadrilateral ABCD is

13 cm
D
13 cm
12 cm
\gon
A Scm B

(@) %(120+169J§ N i

(b) %(120—169@)34 i

(c) —%(60 - 169\/5) sq. cm

(d) -;-(60—169 J3) sq.cm

12. I @FH T TNASET CFATE 5 3L
S v 2, O 25 ANASE (AT [(AS G0
TOF Ged 23

(a) 2v
(®) 242v
(c) 4v

@ 2v

13. 22w 100 & FreifRE Mmaw o =
(a) 50
(b) 505
() 505
(d) 515

14. itsa B ABCD «=fb sugw,
AB=5 Gif¥, AD =12 Gffi 938 BC=CD =13
@1 2%, ©@ ABCD 59%0ed (Fa@a o5

13cem

13¢em

12cm

'\90"

A Scm B

(a) %(120+169J§)§6‘fcaﬁ

(b) %(120-169\/5 )@t
(©) %(60 +169+/3 ) FofAf

() %(60—169\/5 ) TR

[6]




15. Area of a triangle whose lengths of
medians are 9 cm, 12 cm and 15 cm will be

(a) 72sq.cm
(b) 36 sq.cm

(c) 154 sq.cm
(d) 108 sq.cm

16. The relation which will be obtained by
eliminating 0 from x=asec"® and
y=hbtan"0 ig

17. If ABCD is a cyclic quadrilateral, then
A _C B D
the value of (tanztan5+ tan;tan?J is

(a) 1

1
(b) 5
(c) 3
(d) 2

18. 4 unbiased coins are tossed
simultaneously. The probability that two tails
occur will be

(a) &
(b)

(©)

alo &ls Fw >

(d

[7]

15. <= fagrem ez s 9 aifvl, 12 &ifi

€ 15 ¢1f% &1 o Craza 21

(a) 72 3+ff
(b) 36 il

(c) 154 3sffar
(d) 108 3sfefar

16. x=asec"® @32 y=bhtan"0 (A= 0-&

GEATH FACE (@ TF0 “ewt i @il ==

—

1

o[ {

o =
b, R
x|
1]
iy

2 2
o (&) -
1 1
=
@ (& {3 -

17. ABCD @36 @3 voge

tanitan£+tan2tan£ EUERIC
p Any rlanstans =

(a) 1
®) =

2
(c) 3
) 2

20,

18. 4 b »Folew @I G B 41 & |

i (Be “NeAR TSI 2o

X
(a)g

3
GD)E

4
(c) 16

5
@ 7

I =1



19. The roots of the equation x* —5x—2=0
are
(a) Real and Rational

(b) Imaginary
(c) Real and Equal
(d) Real and Irrational

20. If Zfix,.:zle, Zf,:lﬁ and

weighted mean = 13-5 + P, then the value of P

will be

(@ 1
(b) 01
(c) 0-01
@ o

19. x* - 5x—2 = 0 AN Few(L 25

(a) AV € oM
(b)
(c) TI¥ ¢ I«

(d) % 6 T

20. = Zf,—x,- =216, Zf} ~16 93 SRIG

% = 13-5 + P 29, ©(9 P-4 T« I

[8]

(a) 1
(b) 01
(c) 0-01
(d) o




Physics

21. The distance-time graph of a particle at
time t makes an angle 45° with the time axis.
After 1s it makes angle 60° with the time axis.
What is the average acceleration of the particle
during this time interval?

(a) (\/5 —l) unit
(b) (Ji +l) unit

(€) /3 unit
(d) 1 unit

22. Two blocks of mass 4 kg and 2 kg are
placed side by side on a smooth horizontal
table and a horizontal force of 20N is applied
on the 4kg block as shown in the figure. The
normal reaction between the two blocks will
be -

20“% 2kg

PSP P 77777777777

(a) 10/3N
(b) 20/3N
() 25/3N
(d) 40/3 N

23. All other conditions remaining same, if
the velocity of sound in oxygen and hydrogen
gases are given by V,and Vy respectively, then
which one of the following is correct?

@) Vy=2V;
(b) Vg=4V,
(€) Vu=V,

(d) Vo=4Vy

QRIS

21. @F FE e @Efba - Aw-
ST A 45° @16 FE 932 18 2 60° (e I |
G2 Y SR I oI gI Fe e

(a) (J§—1) =
() (V3+1) =

(©) 3 @
(d) 19z

22. 4 kg 6 2 kg ©FF 4% 37 @I Syeie
Wy (BRET Toiz fora emife o A am
=tz | 20N T o1 4kg OFw F07 O AT
91 & (fora ot zam) | geqba o fFasie
77y effefe 7=

20 e g
Vil 4P JF A 77 7 7 7 7 7 i 7 47 47 7 3 i
(a) 103N
(b) 20/3N
(c) 25/3N
(d) 40/3N

23, ) 3T *S SRS e, I e
w391 V) G2 2ROGIEH =7Hd (@9 Vy, T, O
e FfPafers (I e

(a) Vu=2V,
(b) V=4V,
(¢) Va=V,

(d) Vy=4Vy

F =N



24. All other conditions remaining same, if
the temperature of a gas medium drops by 1%,
the velocity of sound in that medium will

(a) increase by 0-5%.
(b) remain unchanged.
(c) decrease by 0-5%.
(d) decrease by 2%.

25. A beam of light is incident at 60° to a
plane separating two medium. The reflected
and refracted rays are found to be
perpendicular to each other. What is the
refractive index of the second medium with
respect to the first medium?

@ 1/3
(b) 1/3
© 3

d) 3

26. The peak value of A.C. voltage on a
220V mains is

(a) 24042V
(b) 230v2V
(©) 22042V
) 11082V

27. Two rain drops reach the earth with
terminal velocities in the ratio 4:9. What is the
ratio of their radii? [Take all other conditions
remain same. ]

(a) 4:9
(b) 2:3
(c) 16:81
(d) 9:4

24. <+ G *$ eifaafe A, 10 @
TGTE TS 1 % T W OF @ W = (@91

(a) 0-5% 3% A |
(b) weifafbe 4 |
(©) 0-5% |

(d) 2% ¥ |

25. @3l SitERrareR 4t Teee Rrerem
60° It wiife® 2= | 7w Afewfre ¢ afeqe afa
PR AN AP, ST AL G AATF Fom
AR AfewaE 37

() 1/v/3
(b) 173

© V3

(d) 3

26. 220V GREE A.C. (elroEs A 9 ?
(a) 24042V

(b) 23042V
©) 22042V

(d) 1102V

27. it IBa @O $-9@ e @ afesr @
A T O SIS 4:9 37, (51 9fba Apid
TS TS A ? [4F, ) AT *S SRS |]

(a) 49
(b) 2:3
(c) 16:81
(d) 94

[10]




28. The absolute refractive indices of water
and glass are 4/3 and 3/2 respectively. Which
is the refractive index of glass with respect to
water?

(@) 1-125
(b) 15

- (¢) 125
(d) 152

29. A block of ice is floating in water
keeping 1/11-th part of its volume above water
level. Taking density of water as 1g/cm?, what
is the nearest value of density of the ice block?

(a) 081 g/cm®
(b) 091 g/cm?
(c) 011 g/em?
(d) 1-11 g/em?

30. A and B are two radioactive substances
having half life periods T, and Ty respectively.
If Ty=3Tgand A, and Ay are the respective
disintegration constants, what relation between
them is correct?

(@) Ag:As=3:1
(b) Ag:A,=1:3
() Ag:Apy=2:3
(d) Xg:Ay=3:2

31. In the equation of motion S = at? + bt;
S and t are distance and time respectively and
a and b are constants. The unit of @ and b are
respectively given by

(a) m/s? m/s
(b) m/s? m/s?
(c) m/s?, m/s?
(d) m/s, m/s?

28. @ G G 219w Afewas AT 4/3 € 3/2
A, T& ANATF PHA AT T ?
(a) 1-125
(b) 15
(c) 1-25
(d) 1-52

29. @3 T 3T O THEET 1/11 wH
GETE T (A0 OPTE | OETE 99 1g/em® A
7% Aofoa Ty @iAe Febew

(a) 0-81 g/lcm®
(b) 091 g/cm?®
(c) 0-11 g/em®
(d) 1-11 g/lem®

30. A ‘e Byl ouiy omief airva sty geies
T, 8 Tp; W T, = 3Ty 2 @R IAGH A, € Ay
OITE ©Ie 433 2, O e Fridufem @b
) 2

(@) Ag:A,=3:1
(b) Ag: Ay=1:3
() Ag:Ay=2:3
(d) Ag:Ay=3:2

31. S=at’+ bt 9% 5z 7TFa09 S '8 t Y™
TG € T €3 a6 b ¥ | a ¢ b7 47T T
AT

(a) m/s%, m/s
(b) m/s?, m/s?
(c) m/s?, m/s’
(d) m/s, m/s?

[11]




wave

32. When electromagnetic
propagates, the angle between the electric field
and the magnetic field is given by

(a) 0°
(b) 90°
(c) 45°
(d) 135°

33, The three sides of a triangle are of equal
resistances of value R each. What is the
equivalent resistance between any two
vertexes of the triangle?

(a) 3R
(b) 2R
(c) R/3
(d) 2R/3

32, oRegTRT o5 RUEa Y Sfoerwd €
FRACHAA NI (I T 27
(a) 0°
"(b) 90°
(c) 45°
(d) 135°

33. =l fagrer aresh e @ R =,
frgafa @ iR 76 R T GRS @ TS
A

(a) 3R
(b) 2R
(c) R/3
(d) 2R/3

[12]




Chemistry

34. Number of neutrons in a parent nucleus

‘A’ which gives "IN after two successive B
emission would be

(a) 6

() 7

(c) 8

d 9

35. The anhydride of Pyrosulphuric acid is
(a) SO2
(b) SOs
(c) S203
(d) S207

36. Which Ammonium compound does not
produce Ammonia gas on heating?

(a) (NHa4),SO4
(b) (NHs),COs
(c) NH4NO2
(d) NH4Cl

37. The compound which contains Ionic as
well as Covalent bond is

(a) H20:
(b) KCN
(c) KCl
(d) CHsCl

38. In the following compounds which two
are not isomer to each other?

(a) (CHs3), CHCH;,
(CH3), CH CH: CH3

(b) CH3 CH: OH, CH:—0O—-CH;
(c) CoHs—O—- C2Hs, CH3—-0—C3H7
(d) CH3CH2CHO, CH:CO CH3

34. ‘A’ GG (AT o7 =7 5 7N Fsfe =@
"IN Seoiw 2, ‘A’ (Meifore REER e

(@) 6

() 7

(c) 8

(d) 9

35. ARG ifires R 2=
(a) SO2
(b) SOs
(c) S203
(d) S207

36. (I SIS (@i Sed warE Sy
ST #hewt a7 a1 2
(a) (NHa4),SO4
(b) (NH4),COs
(c) NH4NO:
(d) NH4Cl

37. W7 @ @eifbr Wz WA 92 ANEE!
TS YR I%W 6T ©f 55

(a) H202
(b) KCN
(c) KCI

(d) CH3Cl

38. TwA @ (o 9B 2RriEs AR e
(a) (CHs), CHCHs,
(CHsz), CH CH: CH3
(b) CHs CH20H, CH:-O—CHs3
(c) C:Hs-0O- C2Hs, CHs—0O-C3H-
(d) CH3CH2CHO, CH3CO CHz3




39. The reaction of AgNO3 with Acetylene
shows which type of property of Acetylene?
(a) Acidic
(b) Oxidizing
(¢) Basic
(d) Reducing

40. In the titration of a weak acid and weak
base, no indicator is suitable for locating the
end point. This is due to

(a) indicator not changing its colour.

(b) pH change being much less at the
equivalence point.

(c) neutralization reaction is very
slow.

(d) neutralization reaction is very fast.

41. What is the number of molecules of COz
which contains 8 gms of O2?
(a) 1-5x10% molecules
(b) 2-0x10* molecules
(c) 1-5x102 molecules
(d) 2:0x102 molecules

42. Which reagent will be helpful in
differentiating ethanoic acid from ethanol?

(a) Br,/CCla

(b) Dilute NaOH solution
(c) Dilute HCI solution
(d) NaHCOs solution

39. AgNO:-«3 i et [feam
AT @ iz aefa a2
(a) =
(b) iz
(c) wIT
(d) etz

40. 37 WifFe € T WEE SREHE @I
ot Rt 2 T R sa0e ot 911 93
I 2@ :

(a) Rofis sig 3 Afaada Fare #iE 1|
(b) #iwe e pH AR Y3 |
(c) o i 4 Fm =)

(d) e RfEFIG 47 wo 27 |

41. CO2-97a 919 7R 9 I T 7y 8 & O2
Toifze Ay
(@) 1-5x10% =g
(b) 2:0x10%=1g
(c) 1-5x102%9
(d) 2-:0x10% =g

42, @M @ ARE AR @ik €
3R ALy e wa TEe

(a) Bry/CCla

(b) #1g NaOH @3¢
(c) #1g HCl w39
(d) NaHCOs3 g3

[i14]]




43. Which statement about the Cathode and
Anode of an electrolytic cell is correctly
applicable?

(a) Oxidation occurs at Cathode and
Cathode is a negative electrode.

(b) Reduction occurs at Cathode and
Anode is a negative electrode.

(c) Oxidation occurs at Anode and
Anode is a positive electrode.

(d) Reduction occurs at Anode and
Cathode is a positive electrode.

44. A sample of aqueous CuSOs was
divided into two equal parts. Through one of
these, H,S gas was passed and through the
other a small amount of dilute NH, solution
was added. The colour of the precipitates
formed in these two cases will be respectively

(a) Black and Brown
(b) Bluish-White and Black
(c) Brown and Black
(d) Black and Bluish-white

45. Among the four elements Li, Na, K,
Be, which one has the highest first Ionization
energy?

(a) Li
(b) Be
(© K
(d) Na

46. Under the identical conditions of
temperature, the density of a gas ‘A’ is three
times that of gas ‘B’ while molecular mass of
gas ‘B’ is twice that of gas ‘A’. The ratio of
pressures of ‘A’ and ‘B’ will be

(a) 6:1
(b) 1:6
{c) 2:3
(d) 3:2

43. Sfe@IEAT FNAT ¢ TFET FTH @
Tt gL A @

(a) IS T B 3R AT YN
wftegld |

(b) AT f[eniael b GIR ST AL
ofGega |

(c) SIS SIe qH @3 SHHAG LHGE
ofeeGlA |

(d) SIS e 90 132 P HNE
ofter |

44, & CuSOs T 4B TS 76 i
©ital ©isl T4 261 | @3l ©iteid s T H,S s
AN 251 '@ S=i=fo ey Ay ARt &g NH,
H29 (1% 391 251 | @R O (G Bl SHETHIAR A
2 TAGTC

(a) FIE € Wi
(b) ReMe-mi 8 el
(c) M € P!
(d) 8 et

45. Li, Na, K, Be Gletafem st @fa 29w
SREE *fea w F4iEHs &b 2=
(a) Li
(b) Be
(c) K
(d) Na

46. AT ‘A’ € ‘B’ ufb yieE Wy
‘A’ SGTE 919 ‘B’ IR 9e0ed femad «3g ‘B’
TER SR €7 ‘A’ SOEE 4T oEg fTed
7@, ‘A’ 3R ‘B’ ST BIHT Ssie 201

(a) 6:1
(b) 1:6
(c) 2:3
(d) 3:2

[15]




Biology

47. ACTH stimulates production of
(a) Glucocorticoids
(b) Adrenaline
(c) Thyroxine
(d) Gonadotropins

48. The enzyme, secreted in your mouth
helps to digest the rice that you are having in
your lunch is

(a) Salivary amylase
(b) Pepsin
(c) Trypsin
(d) Intestinal lipase

49. Mendel chose the following plant for his
experiment related to heredity:

(a) Pisum sativum (Matar)

(b) Hibiscus rosasinensis (Jaba)

(c) Mirabilis jalapa (Sandhyamalati)
(d) None of the above

50. The membrane enclosing the heart is
known as

(a) Epicardium
(b) Pericardium
(c) Supracardium
(d) Endocardium

Gt

47. ACTH fsfere zaone Mestart sl a8
(a) FroBTEeH
(b) =nifgaife™
(c) R
(d) coATTeiGieR

48. i siEEreiete @ ©fe Wvg of #f#is Fare

Y9 /ARG @ Terneh ade e oz
B S 2

(a) RSl SyEEe
(b) co#ifa

(c) T=f=

(d) wifEs #izeere

49, 3191fS TeifFe ATt M v Goes
fsfere s Fifve atafeEm ¢
(a) Pisum sativum (363)
(b) Hibiscus rosasinensis (&4r)
(c) Mirabilis jalapa (FRET)
(d) Beitza @R T

50. Z<fnez Ay ==
(a) «formfam
(b) coifaaifam
(c) TGN
(d) arsRmfEam

[16]
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51. Analogous organs are those which have

(a) Common origin and common
functions.

(b) Common origin but different
functions.

(¢) Similar functions but different
origins.

(d) Different functions and different
origins.

52. Plants that have pneumatophores and
show vivipary are known as

(a) Mesophytes
(b) Halophytes
(c) Psammophytes
(d) Hydrophytes

53. Passive immunity is obtained through
injecting
(a) Antibiotics
(b) Vaccines
(c) Antigens
(d) Antibodies

54. A transition area between two biomes
is known as

(a) Ecozone
(b) Biotope
(c) Ecotone
(d) Buffer zone

51. K@ % 257 (I 9K A
(a) T G2 4R TGS G |
(b) @2 T g e e |
(c) @2 3o fog Ter fom |
(d) =15 foq qar Texne fem |

52. @ IR TferE WTE @ SIS SEERIN
CRIRERU GG
(a) CTCTTRG
(b) iETIRG
(c) IS
(d) 2XGFRs

53. AfE SRITEe IR 233 9 G FAER
My (of7 31 2 ©f 7

(a) wmfoamITe
(b) =y ar Bt
(c) suifore

(d) =uifofe

54. 76 for IrEeE AT @ W
(a) T=Ew
(b) ITATH
(c) TREH
(d) IR

[17]
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55. Identify the wrong one. 55. @AM AfoF 7@ ©f 6w |

(a) Mollusca —» Pseudopodia (a) GT=E — wpein
(b) Cnidaria — Nematocyst (b) fwifaat »  F=GIEeS
(c) Annelida — True coelome (c) woififeret »  ape Fisw
(d) Echinodermata — Water vascular (d) G — & HezToT
system
56. Air sacs in birds help in 56. ~fme At et w@
(a) double respiration (a) fa-wom e
(b) increase of body weight (b) o=m e Jfae
(c) storage of more food (c) = =Afaanet 2 A
(d) loss in lung functions (d) PeER e e [E s
57. Vasopressin is synthesized in 57. e sKosEe 9%
(a) Adenohypophysis (a) =g FpEoiface
(b) Thyroid (b) «iR=ce
(c) Hypothalamus (c) ARG
(d) Neurohypophysis (d) =sie Pip2oifRes

58. The Acharya Jagadish Chandra Bose 58. SIHR( Selice ] BfuW @A sitds

Indian Botanic Garden is situated in SRFe
(a) Shibpur, Howrah (near Kolkata) (a) ==z, 2evl (FFrrrer HTw)
(b) Dehradun (b) R
(c) Lucknow (c) FCHTS

(d) Chennai (d) caiETS

[18]




59. Chromosomes are made up of
(a) DNA

(b) RNA

(c) Protein

(d) All of the above

Fund) is

(a) Giant Panda
(b) Tiger

(c) Rhododendron
(d) White Bear

60. The symbol of WWF (World Wildlife

[19]

59. FieE Sfde =
(a) f.97.9. (DNA) ==z
(b) w7979, (RNA) 41
(c) c2fow =t
(d) Toimw Aaafba

60. WWF (World Wildlife Fund) -43 2%/
oz =

(a) @G #ire!
(b) <1

(c) TCBIGTG
(d) =t fege




History

61. “I am the Revolution and I destroyed
the Revolution”— Whose speech it was?

(a) Louis XIV

(b) AlexanderII

(c) Napoleon Bonaparte
(d) Bismarck

62. Which of the following countries,
mentioned was not the member of the Axis
power in the First World War?

(a) Germany
(b) Austria
(c) Ttaly

(d) Turkey

63. The Russian Revolution took place in
(a) 1789 AD
(b) 1857 AD
(c) 1911 AD
(d) 1917 AD

64. The first Secretary General of the UNO

was
(a) TrygveLie
(b) Bun Ki Moon
(¢) Hammer Shield
(d) Butros Butros Ghali

[20]

61. “wifiz fzq a2 Wi Rz v w@E—
I SfE?

(a) v R

62. Tffe aigele s @w 2Eh 2w g
wrmifera ey fos =l e
(a) T
(b) =g
(c) i
(d) ¢7%

63. #I Raa =y
(a) 1789 &It
(b) 1857 5=
(c) 1911 f3%itz
(d) 1917 &5

64. R wifeojem e T2Hba e
(2) Bofe =
(b) A & 3
(c) T P
(d) Foami e e



65. Sui Munda was the leader of
(a) The Munda Rebellion
(b) The Kol Rebellion
(c) The chuarh Rebellion
(d) The Santhal Rebellion

66. The editor of the ‘Bengal Gazette” was
(a) Marshman
(b) Surendranath Bandyopadhyay
(c) James Augustus Hickey
(d) William Carrey

67. The first woman graduate of Calcutta
University was
(a) Kadambini Ganguly
(b) Sarala Devi Chaudhurani
(c) Swarna Kumari Devi
(d) Kalpana Dutta

68. Mr. Allan Octavian Hume, who was the

65. 3 %! B
(2) oI Rearzs e
(b) e Renes @e
(c) pare fcwitzs et
(d) veor Rumites @

66. ‘@ (AIEG” HAGIT T farem
(a) wefaisy
- (b) EIY AT
(c) (o= WG 2
(d) TEferem cafa

67. T=el RmifEmiEE guw wfEe Fres e
(a) mfEa sz
(b) Feermat G
(c) Tl o

(d) ¥5«1 we

68. SIS GO IATTE 2AfSVrer e wiE

founder of the Indian National Congress wasa  wi3ifSnm 2w e aaee

(a) Journalist
(b) Civil Servant
(¢) Politician
(d) Police

(a) s

(b) Fife= s
(c) TSR
(d) sffeee
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69. The first president of “All India Trade
Union Congress” was
(a) Byomkesh Chakraborty
(b) Surendranath Halder
(c) Lala Lajpat Rai
(d) Qutubuddin Ahmed

70. ‘Vaikom Satyagraha’ was started in
(a) Kerala
(b) Andhra Pradesh
(¢) Maharashtra
(d) Guyjrat

71. The Poona Pact (1932) was signed

between
(a) Gandhiji and Lord Irwin
(b) Gandhiji and B.R.Ambedker
(c) Gandhiji and Chamberlin
(d) Gandhiji and Ramsay Macdonald

72. The writer of the book named ‘Udbastu’
was

(a) Hiranmoy Bandyopadhayay
(b) Prafulla Kumar Chakraborty
(c) Prabhash Chandra Lahiri

(d) Dakshinaranjan Basu

69. e 2fow (T TofWEa AN -9 FUN
Teteifs feres

(a) G 5ZFS(
(b) e AR
(c) =i sfrerele AW

(d) FICH SR

70. ‘SiZIW AT BF AR

(a) afeitE
(b) ST
(c) =R
(d) wwam

71. == pf& (1932) Fr=fae =@

72. Taw EHT G W
(a) R TN
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Geography

73. We seperate our planet as two
hemispheres— East and West. If you want to
put your two legs in two hemisphere, then you
must visit following country

(a) Italy

(b) Germany
(c) Netherlands
(d) France

74. Limestone is an example of
(a) Igneous rock
(b) Sedimentary rock
(c) Metamorphic rock
(d) None of the above

75. If the location of Kolkata is 22°30' North
and 88°30' East, what will be the latitude and
longitude of the Antipode of Kolkata?

(a) 22°30' South and 88°30' West
(b) 22°30' South and 91°30' West
(c) 58°30' South and 88°30' West
(d) 91°30' South and 108°30' West

76. The processess of waste management
involve

(a) Reuse of waste

(b) Recycling of waste
(c) Reduction of waste
(d) All of the above

Clalp

73. =t e A2 oF ¢ AR @ w3
csiieied 1) cafe | A ofit (ot 3« ufS cotemee
TS B8, OIZTE AHF (I T (ST (A0S 203 2

(a) 21
(b) @i
(¢) migeTTE
(d) ==

74. pAIHINT T GFLF
(a) wice e
(b) refers em
(c) mrefae e
(d) Toi=a @ite a7

75. v Feerea S@EE @ 22°30' Ten SR
932 88°30' +F wifew, Orere o afAmge=
S @ Tifes Fo e

(a) 22°30' % @3z 88°30" #ifkow
(b) 22°30' Wi @32 91°30" 5w
(c) 58°30" wfAre @z 88°30" #ifepa
(d) 91°30" v @3z 108°30" #Afsw

76. o AT AEfonfE w5
(a) T WAL
(b) cEfa o arad
(c) ItEfa wAfaweere g
(d) Ttz Feld
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77. One depositional feature of the Glacier
is
(a) Roche Mountonnes
(b) Cravasse
(c) Fjords
(d) Drumlins

78. Which of the following is not suitable
for the character of an ‘Isobar’?
(a) The unit of isobar is millibar.
(b) When the isobars are very near to
each other, the wind blows faster.

(c) When the isobars are not very close
to each other, the movement of
wind is slower.

(d) Some times the isobars are
perpendicular to each other.

79. Canary current flows along the coast of
(a) Portugal
(b) Peru
(c) Japan
(d) India

80. Which of the following is not a right
bank tributary of the Ganga river?
(a) Yamuna
(b) Son
(c¢) Damodar
(d) Gomti
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81. Crops grown during April, May and

June are known as
(a) Zayed crops
(b) Kharif crops
(c) Rabi crops
(d) Spring crops

82. Lamba in Gujrat is famous for
(a) Hydel Power
(b) Wind Power
(c) Atomic Power
(d) Thermal Power

83. India’s first petro-chemical industry is
(a) UCIL
(b) HPL
(c) IPL
(d) NOCIL

84. Diamond Quadrilateral related to
(a) Metro Rail
(b) High Speed Railways
(c) Roadways
(d) Waterways

81. @ 75w #>; a?aﬁ,mﬂaaqwmm‘iﬂ,
SItF @7 27

(a) wnfam =y
(b) sz =y
(¢) = =y
(d) s =5y

82. woranhy Ay
(2) weTlRyge e
(b) e e
(¢) Ao =i cpag
(d) orifae comr

~93 G e |

83. SIS &AW (Ao fi (% Z&T
(a) UCIL
(b) HPL
(c) IPL
(d) NOCIL




Political Science

85. ‘The Prience’ was written by
(a) Plato
(b) Aristotle
(¢) Laski
(d) Machiavelli

86. ‘Fundamental Duties’ of the citizen of
India are described in the Constitution of India

under chapter
() 1
(b) IV
© V
(d) VI

87. How many members of the Rajya Sabha
can be nominated by the President of India?
(a) 2
(b) 4
(c) 6
d) 12

88. The President of India can Proclaim
‘lational Emergency’ according to Article

(a) 350
(b) 352 $
(c) 356
(d) 360

AR

85. W 2 ogfoa whel W
(a) CoB!
(b) w66
(c) #nif=
(d) smfFaTs

86, TS i ‘Clfee F6 ERERIC
3fefe zmm ’

(a) TOF S
(b) v S

(c) s S
(d) & S

87. ACTTOR HTeA AT FoGH HY TS
A0S A ?
(a) 2@
(b) 4@
(c) 6@«
(d) 12+

88. wie AT T TR T WA PO
oM 4 SEPI |
(a) 3507
(b) 352=R
(c) 3567
(d) 360
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89. The ‘Joint Session’ of the Parliament in 89. erre Wevva Tew woww @y gy’

India is presided over by the TeIHifeT Iz r
(a) Vice-President (a) Torargefe
(b) Speaker of the Lok Sabha (b) ETeR P ‘
(¢) Governor (c) wregeie
(d) President (d) 7geifs

90. In Parliamentary System of the Cabinet
remains responsible to the :

90. R JTYT NWere! wireNe e
|

(a) President (a) TB=ifSw =g
(b) Prime Minister (b) =umwER T
(¢) Legislature (c) wEwTerr g
(d) Supreme Court (d) s g

91. The term of the non-permanent

91. wﬁfﬁw@%ﬁc@aﬁw@mw@
|

members of the Security Council of the U.N.O, IR IR
is ; (a) 29=7

(a) 2 years (b) 337

(b) 3 years (c) 4 9=z

(¢) 4 years (d) 5327

(d) 5 years

92. The Upper House of the State

92. AT WETTSR T 7 ke

Legislature is . (a) Rye)
(a) Legislative Assembly (b) e ffaw
(b) Legislative Council (c) cTe] &
(c) Lok Sabha (d) sremeTet

(d) Rajya Sabha
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Economics

93. National Income of a country is the total
of

(a) all the incomes of the persons of a
country.

(b) the income generated by the public
sector.

(c) the factor incomes.

(d) (b) and the total of all incomes
from abroad.

94. Which of the following taxes is not
useful to lower the inequality in income?
(a) Goods and Service Tax
(b) Income Tax
(c) Wealth Tax
(d) Profession Tax

95. In which form of market there is no
control on price by an individual seller?

(a) A market where there is a large
number of buyers and large
number of sellers

(b) A market where there is a large
number of buyers and a single
seller

(c) A market where there is a single
seller and a single buyer

(d) A market where there is few sellers
and a large number of buyers

96. Suppose, x denotes the rate of interest
on the securities sold by Central Bank to
Commercial Banks and y denotes the rate of
interest on the loans taken by Commercial
Banks from Central Bank. Now to lower the
capacity of Commercial Banks to provide
loans which one is necessary in the time of
inflation?

(a) y must be less than x.

(b) y must be greater than x.

(c) x and y must be equal.

(d) Itis not dependant on x and y.

93. (T*T SIOR oY 24
(a) oo e T s e |
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97. The earning of a factor of production
from an alternative use is known as the
of that factor of production.
(a) Money Cost
(b) Real Cost
(c) Average Cost
(d) Opportunity Cost

98. If the price elasticity of demand for a
goods is inelastic and there is no substitute
goods in the market, an increase in its price
will cause the total expenditure of consumers
of the goods to

(a) increase
(b) decrease
(c) remain same
(d) become zero

99. Which one of the following is not a
characteristic of a Capitalist Economy?

(a) Private Ownership of resources
(b) Freedom of enterprise
(c) Consumer sovereignty '

(d) Existence of Central Planning
Authority

100. Human Development Index measures
of an economy.

(a) Birth rate

(b) Death rate

(c) Quality of education
(d) Quality of life
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